

OSCILLATORY PROPERTIES OF LINEAR THIRD-ORDER DIFFERENTIAL EQUATIONS

W. J. KIM

ABSTRACT. Separation theorems, distribution of zeros of solutions, and disconjugacy criteria for linear third-order differential equations are discussed. For instance, it is proved that the equation $y''' + py'' + qy' + ry = 0$, where $p \in C''$, $q \in C'$, and $r \in C$ on an interval I , is disconjugate on I if p does not change sign and if $q \leq 0$, $r \geq 0$, $q - 2p' \leq 0$, and $r - q' + p'' \leq 0$ on I .

We shall consider the third-order equation of the form

$$(1) \quad y''' + py'' + qy' + ry = 0,$$

where p , q , and r are real-valued, continuous functions defined on an interval I . The oscillatory behavior of solutions of (1) has been extensively studied by Hanan [4], Azbelev and Caljuk [1], Lazer [6], and Barrett [2]. An up-to-date review of the oscillation theory of the linear third-order differential equation may be found in a recent article by Barrett [3].

In this paper we shall discuss separation theorems, distribution of zeros of solutions, and disconjugacy criteria for equation (1). (1) is said to be *disconjugate* on the interval I if no nontrivial solution of (1) has more than two zeros (counting multiplicities) on I . A nontrivial solution of (1) is said to be *oscillatory* on I if it has an infinite number of zeros on I . If (1) has an oscillatory solution, it is said to be *oscillatory*.

THEOREM 1. Assume that $p, q, r \in C[a, b]$ and that $p \leq 0$, $q \leq 0$, $r \geq 0$ on $[a, b]$. Let u and v be two solutions of (1), and put

$$D_{ij} = \begin{vmatrix} u^{(i)} & v^{(i)} \\ u^{(j)} & v^{(j)} \end{vmatrix}, \quad 0 \leq i < j \leq 2, \quad i, j = 0, 1, 2.$$

If $D_{01}(a)$, $D_{02}(a)$, and $D_{12}(a)$ are nonnegative, but not all zero, then

- (i) neither u nor v have a double zero on $(a, b]$,
- (ii) $u^{(k)}$ and $v^{(k)}$ cannot have a common zero on $(a, b]$, $k = 0, 1$; and
- (iii) between any two zeros of u on $(a, b]$, there is a zero of v .

Received by the editors February 13, 1970.

AMS 1969 subject classifications. Primary 3442, 3436.

Key words and phrases. Zeros of solutions, separation, distribution of zeros, sufficient conditions for disconjugacy, linear equations, ordinary, third-order, real-valued coefficients.

This theorem is an immediate consequence of the following theorem.

THEOREM 2. *Let D_{ij} be defined as in Theorem 1. Under the hypotheses in Theorem 1, we have $D_{01}(x) > 0, x \in (a, b]$.*

PROOF. We use a method due to Mikusiński [7]. It is easily confirmed that

$$\begin{aligned}
 (2) \quad & D'_{01} = D_{02}, \\
 & D'_{02} = D_{12} - pD_{02} - qD_{01}, \\
 & D'_{12} = -pD_{12} + rD_{01}.
 \end{aligned}$$

We may regard the above relations as a system of first-order differential equations satisfied by D_{01}, D_{02} , and D_{12} . Since the coefficients of system (2) and the initial values $D_{01}(a), D_{02}(a)$, and $D_{12}(a)$ are all nonnegative by hypothesis, the solutions D_{01}, D_{02} , and D_{12} are all nonnegative throughout the interval $[a, b]$. This being the case, a glance at system (2) shows that $D'_{ij}(x) \geq 0, x \in (a, b]$, i.e., D_{ij} is nondecreasing on $(a, b]$. By assumption, $D_{kl}(a) > 0$ for some k and $l, 0 \leq k < l \leq 2$. If $D_{01}(a) > 0$, then $D_{01}(x) > 0, x \in (a, b]$, as asserted. If $D_{02}(a) > 0$, then $D_{02}(x) > 0$ for $x \in [a, b]$; and it follows from $D'_{01} = D_{02}$ that D_{01} is positive on $(a, b]$. Finally, if $D_{12}(a) > 0$, then $D_{12}(x) > 0, x \in [a, b]$. Therefore, the positivity of D_{02} on $(a, b]$ follows from the second equation in (2), and again we conclude from $D'_{01} = D_{02}$ that D_{01} is positive on $(a, b]$. This completes the proof.

PROOF OF THEOREM 1. (i) and (ii) are immediate consequences of the inequality $D_{01}(x) > 0, x \in (a, b]$. To prove (iii), assume the contrary: let α and β be two consecutive zeros of u on $(a, b]$ and assume that v does not vanish on (α, β) . Then the function $w \equiv u/v$ is continuously differentiable on $[\alpha, \beta]$ and $w(\alpha) = w(\beta) = 0$, since $v(\alpha) \neq 0$ and $v(\beta) \neq 0$ by (ii). Thus, by Rolle's theorem, there exists a point $\xi \in (\alpha, \beta), a < \alpha < \beta \leq b$, such that

$$0 = w'(\xi) = \frac{u'(\xi)v(\xi) - u(\xi)v'(\xi)}{v^2(\xi)} = \frac{-D_{01}(\xi)}{v^2(\xi)},$$

i.e., $D_{01}(\xi) = 0$, contrary to the inequality $D_{01}(x) > 0, x \in (a, b]$. This contradiction proves (iii).

REMARKS. 1. In the proof of Theorem 2, we established that $D_{01}(x) \geq 0, D_{02}(x) \geq 0$, and $D_{12}(x) \geq 0, x \in (a, b]$. If we assume that there exists an $\epsilon > 0$ such that $r(x) > 0, x \in (a, a + \epsilon)$, the inequalities

(\geq) may be strengthened to strict inequalities ($>$). These strict inequalities yield results similar to those in Theorem 1. For instance, the inequality $D_{12}(x) > 0$, $x \in (a, b]$, implies that

- (i) neither u' nor v' have a double zero on $(a, b]$, and
- (ii) $u^{(k)}$ and $v^{(k)}$ cannot have a common zero on $(a, b]$, $k = 1, 2$.

2. If we assume in Theorem 2 that $D_{01}(a) \geq 0$, $D_{02}(a) > 0$, and $D_{12}(a) \geq 0$, it is easily confirmed that $D_{01}(x) > 0$, $D_{02}(x) > 0$, and $D_{12}(x) \geq 0$, $x \in (a, b]$. Similarly, the inequalities $D_{01}(a) \geq 0$, $D_{02}(a) \geq 0$, and $D_{12}(a) > 0$ yield $D_{01} > 0$, $D_{02} > 0$, and $D_{12} > 0$ on $(a, b]$.

COROLLARY 1. *Let u be a solution of (1) satisfying the initial conditions*

$$u(\beta) = u'(\beta) = 0, \quad u''(\beta) > 0, \quad \beta \in I.$$

If $p \leq 0$, $q \leq 0$, and $r \geq 0$ on the interval I , then

$$(3) \quad u(x) > 0, \quad u'(x) < 0, \quad u''(x) > 0, \quad x \in I, x < \beta.$$

PROOF. Evidently, there exists an $\epsilon > 0$ such that the inequalities in (3) hold on the interval $(\beta - \epsilon, \beta)$. If an inequality in (3) fails to hold, there would exist a first point α , to the left of β , at which $u(\alpha) > 0$, $u'(\alpha) < 0$, and $u''(\alpha) = 0$. Let v be the solution of (1) satisfying the initial conditions $v(\alpha) = 0$, $v'(\alpha) = u(\alpha)$, and $v''(\alpha) = 0$. Then $D_{01}(\alpha) = u^2(\alpha) > 0$ and $D_{02}(\alpha) = D_{12}(\alpha) = 0$. Hence, by part (i) of Theorem 1, the solution u cannot have a double zero at $x = \beta$, contrary to our hypothesis. This contradiction proves (3).

We next require an elementary generalization of a result of Lazer [6, Lemma 1.1]. We state it as a lemma for convenient reference.

LEMMA 1. *If $p \geq 0$, $q \leq 0$, $r \geq 0$ on I , and if y is a solution of (1) satisfying the initial conditions*

$$(4) \quad y(\beta) \geq 0, \quad y'(\beta) \leq 0, \quad y''(\beta) > 0, \quad \beta \in I,$$

then

$$(5) \quad y(x) > 0, \quad y'(x) < 0, \quad y''(x) > 0, \quad x \in I, x < \beta.$$

PROOF. It follows from (4) that there exists an $\epsilon > 0$ such that the inequalities in (5) hold on the interval $(\beta - \epsilon, \beta)$. If the inequalities in (5) do not hold for some point $x_0 \in I$, $x_0 < \beta$, then there would exist a first point $\alpha \in I$, $\alpha < \beta$, with $y''(\alpha) = 0$. However, $y'''(x) \leq 0$ on (α, β) which is a contradiction.

From Corollary 1 and Lemma 1, we obtain the following theorem.

THEOREM 3. *If p does not change sign, and if $q \leq 0$ and $r \geq 0$ on the*

interval I , the only solution of (1) satisfying the boundary conditions $y(\alpha) = y(\beta) = y'(\beta) = 0$, $\alpha, \beta \in I$, $\alpha < \beta$, is the trivial one.

REMARK. In the above theorem we may relax somewhat the condition that p does not change sign on I . The p may change its sign on I provided that it changes only once from a positive to a negative sign, i.e., for some $\xi \in I$, $p(x) \geq 0$, $x \leq \xi$, $x \in I$, and $p(x) \leq 0$, $x \geq \xi$, $x \in I$.

As we shall see presently, Theorem 3 gives rise to a disconjugacy condition for (1). This condition is somewhat different from other disconjugacy conditions known to the author: the length of interval of disconjugacy does not appear explicitly in the condition. To obtain the sufficient condition, we use the following well-known results [1]: If (1) has a nontrivial solution with three zeros on I , then there is a nontrivial solution y of (1) which satisfies at least one set of the boundary conditions

$$(6) \quad y(a) = y'(a) = y(b) = 0,$$

$$(7) \quad y(a) = y(b) = y'(b) = 0,$$

where $a, b \in I$ and $a < b < \infty$. Furthermore, if (1) with $p \in C''$, $q \in C'$ and $r \in C$ has a nontrivial solution satisfying condition (6) {(7)}, then its adjoint equation

$$(8) \quad y''' - py'' + (q - 2p')y' - (r - q' + p'')y = 0$$

has a nontrivial solution which satisfies condition (7) {(6)}.

In view of these results, we see that (1) is disconjugate on I if and only if neither (1) nor its adjoint equation (8) have a nontrivial solution satisfying boundary condition (7). According to Theorem 3, the adjoint equation has no nontrivial solution satisfying (7), provided that p does not change sign on I and that $q - 2p' \leq 0$ and $r - q' + p'' \leq 0$ on I . This proves the following theorem.

THEOREM 4. Assume that $p \in C''$, $q \in C'$, and $r \in C$ on an interval I . If p does not change sign, and if $q \leq 0$, $r \geq 0$, $q - 2p' \leq 0$, and $r - q' + p'' \leq 0$ on I , then (1) is disconjugate on I .

Our next results are concerned with the case $p \leq 0$, $q \leq 0$, and $r \leq 0$. The following lemma generalizes a result of Lazer [6, Lemma 2.1]. We shall state it for the n th-order differential equation.

LEMMA 2. Let p_i , $i = 0, 1, \dots, n-1$, be continuous on an interval $[a, \infty)$ and let y be a solution of the equation

$$(9) \quad y^{(n)} + p_{n-1}y^{(n-1)} + \dots + p_0y = 0,$$

satisfying the initial conditions

contrary to the boundedness of y_1 and y_2 . This contradiction proves that the zeros of y_1 and y_2 separate.

The second assertion may be proved in a similar way.

THEOREM 6. *Assume that $p \leq 0$, $q \leq 0$, and $r \leq 0$ on an interval $[a, \infty)$. If (1) is oscillatory on $[a, \infty)$, then, for any nonnegative integer N , there exists a nontrivial solution of (1) which has exactly N simple zeros on $[a, \infty)$.*

PROOF. Lemma 2 implies that every zero on $[a, \infty)$ of an oscillatory solution is simple. Let $x_k \geq a$, $k=1, 2, \dots$, be the k th zero on $[a, \infty)$, to the right of a , of an oscillatory solution y . In view of Lemma 2, it is clear that the assertion holds for $N=0, 1, 2$, whether or not (1) is oscillatory. In order to prove the theorem for $N=3, 4, \dots$, we shall use a continuity argument (cf. [5, Lemma 2.2]). Let y_1, y_2 , and y_3 be linearly independent solutions of (1), and define

$$w(x; x_1, x_N) = \begin{vmatrix} y_1(x) & y_2(x) & y_3(x) \\ y_1(x_1) & y_2(x_1) & y_3(x_1) \\ y_1(x_N) & y_2(x_N) & y_3(x_N) \end{vmatrix}.$$

Evidently, w is a nontrivial solution of (1) and vanishes at x_k , $k=1, 2, \dots$. Furthermore, w is a continuous function of x_1 and x_N , and w remains a solution as x_1 and x_N range over the interval $[a, \infty)$. We note that $y=Kw$ for some constant K . For, if y and w were linearly independent, there would exist a nontrivial solution u such that $u(x_1)=u'(x_1)=u(x_N)=0$, contrary to Lemma 2. Fix x_1 and let x_N approach x_1 , and observe the movements of zeros x_2, x_3, \dots, x_{N-1} . Since the N (≥ 3) zeros cannot coalesce at x_1 , the intervening zeros x_2, x_3, \dots, x_{N-1} must disappear from the interval $[x_1, x_N]$, as x_N approaches x_1 . The intervening zeros can disappear only in pairs or across the boundary point x_1 or x_N . We assert that the zeros cannot disappear in pairs. If two zeros x_l and x_{l+1} , $2 \leq l \leq N-2$, are to disappear in pair, they must first coalesce to a double zero ζ ($=x_l=x_{l+1}$), as the zero x_N approaches x_1 . But this is impossible because (1) cannot have a nontrivial solution with a double zero at ζ and a zero x_N , $\zeta < x_N$. For the same reason, the intervening zeros cannot disappear across the point x_1 . Therefore, the zeros must disappear across x_N . This proves that there exists a solution u which has exactly $N-2$ simple zeros on $[x_1, x_N)$ and a double zero at x_N . Without loss of generality, we may assume that $x_1=a$ because if $x_1 > a$ we can move the double zero x_N toward a until x_1 coincides with a . Moreover, we see that u cannot vanish on (x_N, ∞) . Since we

may assume $u''(x_N) > 0$, we have $u(x) > 0$ and $u'(x) > 0$ for $x > x_N$ by Lemma 2. The double zero of u at x_N can be separated into two simple zeros, without losing or gaining any other zeros on $[a, \infty)$. This may be accomplished by holding the zero x_1 at a and moving one zero at x_N toward a until the double zero at x_N separates into two simple zeros. This establishes the existence of a nontrivial solution which has exactly N simple zeros on $[a, \infty)$.

In our last theorem, we prove a sufficient condition for disconjugacy of (1).

THEOREM 7. *Let $p, q \in C'(a, b)$ and $r \in C(a, b)$. If $p \leq 0$, $q \leq 0$, $r \leq 0$, $p^2 + p' + q \leq 0$, and $pq - r + q' \leq 0$ on (a, b) , then (1) is disconjugate on (a, b) .*

PROOF. It suffices to prove that (1) is disconjugate in every subinterval (α, β) , $a < \alpha < \beta < b$. Let u and v be the solutions of (1) satisfying the initial conditions

$$\begin{aligned} u(\alpha) &= 1, & u'(\alpha) &= 0, & u''(\alpha) &= 0, \\ v(\alpha) &= 0, & v'(\alpha) &= 1, & v''(\alpha) &= 0, \end{aligned}$$

respectively. Define D_{ij} as in Theorem 1. Due to a result of Pólya [8, Theorem II], (1) would be disconjugate on (α, β) if we could show that $u > 0$ and $D_{01} > 0$ throughout the interval (α, β) . Since $p \leq 0$, $q \leq 0$, and $r \leq 0$ on (α, β) , it follows from Lemma 2 that $u > 0$ on (α, β) . To prove $D_{01} > 0$, we put $D = D_{12} - pD_{02} - qD_{01}$. Then D_{01} , D_{02} , and D satisfy the differential system

$$\begin{aligned} D'_{01} &= D_{02}, & D'_{02} &= D, \\ D' &= -(pq - r + q')D_{01} - (p^2 + p' + q)D_{02} - 2pD, \end{aligned}$$

where the coefficients are all nonnegative, and the initial conditions

$$\begin{aligned} D_{01}(\alpha) &= 1, & D_{02}(\alpha) &= 0, \\ D(\alpha) &= -q(\alpha) \geq 0. \end{aligned}$$

Thus, $D_{01} > 0$ on (α, β) , as in the proof of Theorem 2. This completes the proof.

The author wishes to thank the referee for providing the present shorter proof of Lemma 1.

REFERENCES

1. N. V. Azbelev and Z. B. Caljuk, *On the question of distribution of zeros of solutions of linear differential equations of third order*, Mat. Sb. 51 (93) (1960), 475-486; English transl., Amer. Math. Soc. Transl. (2) 42 (1964), 233-245. MR 22 #12266.

2. J. H. Barrett, *Third-order differential equations with nonnegative coefficients*, J. Math. Anal. Appl. **24** (1968), 212-224. MR **38** #365.
3. ———, *Oscillation theory of ordinary differential equations*, Advances in Math. **3** (1969), 415-509.
4. M. Hanan, *Oscillation criteria for third-order differential equations*, Pacific J. Math. **11** (1961), 919-944. MR **26** #2695.
5. W. J. Kim, *Disconjugacy and disfocality of differential systems*, J. Math. Anal. Appl. **26** (1969), 9-19. MR **38** #4759.
6. A. C. Lazer, *The behavior of solutions of the differential equation $y''' + p(x)y' + q(x)y = 0$* , Pacific J. Math. **17** (1966), 435-466. MR **33** #1552.
7. J. Mikusiński, *Sur l'équation $x^{(n)} + A(t)x = 0$* , Ann. Polon. Math. **1** (1955), 207-221. MR **19**, 141.
8. G. Pólya, *On the mean-value theorem corresponding to a given linear homogeneous differential equations*, Trans. Amer. Math. Soc. **24** (1922), 312-324.

STATE UNIVERSITY OF NEW YORK, STONY BROOK, NEW YORK 11790